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1. Anobject is launched from a platform that Is 80 feet above the ground. The height of
the object is a function of time h(t) = —16t? + 64t + 80, where h is measured in feet
and tis time In seconds. If you choose to solve this problem graphically, be sure to
support your solution with a sketch or table and the proper labeling of all parts.

a. Atwhat time does the object reach its maximum height?

b:m2
Lo (e
2(-16)

.\-I - se.gcm')-&l’

b. What is the maximum height the ball will reach?
IW(2) 2~ 16 (27 + 8Y (D) + B8O

(2D = 144
U4y feex |
c. For how many seconds, to the nearest hundredth, will the ball be above 125
feet?
i t=_ 91029526
4 t= 3,0847247 > 2.3 TG 4Y

lZ,/g Sacoﬂ@l)\

3x-x2
9—x2

2. Factor and reduce the following rational expression:
» (27
(B Y><*D

3. Write and equation of a parabola with the given characteristics, sketch a graph for full

credit:
Focus: (0, 6) directrix:y =-6
;\\I 5’ .Qr (- 4 R
- 2
g + O
2z > OL{ __](. o)
et e e a'—;}Q—; R
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4, I|dentify the transformation, in function notation, of a parabo!a with a vertex of (-1, 3)

to a parabola with a vertex of (2,4).
( i 5 “'—r;-——"r (2,4)

5. Simplify each expression: {p’()’ -2) 4\ !

a. 3V32

VA
IVieVz
3-Y g

b. V=36
N\
Y3e V™)
A\

c. 2v=20

/\
AN

225 J=
4.

6. Sketch a scatter plot of a linear regression with an r-value close to —1.

7. Solve the equation using the quadratic formula, express your answer in simplest a + bi
form:

x*+4x=-5

)(4‘—f><+5 (8 Y+
g\llq Y= b—+ bzqa(_ 2 )
E:s j kA

v 2 waf) -4()Ls)

209 2+ A\

X : —Lf-"\/—'
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8. Factor the perfect square trinomial: x? — 7x + 54—9

| (x=7"

9. Find the average rate of change over the interval =2 < x < 2 for the graph given

below.
y
[ 8
. 4 ( 2—) "ﬁ—) 2 s - 2_
2 /—\ : _j—
R l b e -
-2 i
\jL/w..«sz 3 —E

10. The expression 4i3(2i + 3) is equivalent to what simplified expression?
3/?'_\
4:% (24 42D
: -3
S gat4124
ity 72 <) gl + 124D

\8 —Jzi\.

b
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11. Find algebraically, the zeros for p(x) = x3 + 2x? - 4x - 8.
0 - ‘7.1"4 24" - Yy -8
O: ¥ (x+2) -u(»+2)
O: & +2)»"-u)
O = B+ ree)(2-2)

Sketch the graph y = p(x); using the calculator determine to the nearest hundredth the
relative maximum and the relative minimum.

celebioe maxl (2,0)

(c‘o}iﬂ. Mif): C‘ (o”} —q,l-l‘B)

12. What is an even function? Draw a sketch of one below:

. symmc—\rr"t aoov} e U('M&is. h

e L) = 0

{

13. If the discriminant is less than zero, sketch a graph the best representation of
y=ax?+bx+c.

bz'%\c L0 3 dres not bt TR X O S,
A
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14. The graph of f(x) Is shown below. What is the remainder when f(x) is divided by:

a. (x-2)
b. (x)
c. (x-4)
d (x+3)
pe -jl po
-5‘_
1
15. Solve and check the following rational equation:
/;‘ﬁm) e i
B2 [5 1 1] — N
i e - A
X. 3. —L’Q_ F: oeng
/5 "‘\>( = 3 %7_'* ,:.!1.-
ls = %+ L LL
-— 5 -

16. Using long division, convert f(x) = % into the f(x) = ﬁ + k form, and state the
Domain and the Range. Include a sketch of a graph with asymptotes for full credit.

| »f\.\
WS rery 7y e
ROEIN S S o
R 7
75 \
3 d i e

Y= T+ 2725:3 N

T

-_— TN e o a

-3 \15){:3
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17. Solve the non-linear system of equations using and algebraic technique:
T y+3x=-17

f, y=-3x2-30x-71

—
(j;_ay\—l"l /‘_3_}(;\\7 :-.3’(2_'50}{_"1\
4‘531&'\ "‘J‘F *“1
0: ~3%x>-27x = &4
e —-r:u~3

O - %% 49y + )8
2 ~3(-3) 7 4i: S“:l* ;4 13 Sy
(7: -8 é’ =)
lc3,-8)) ISTEN

18. Determine if x + 3 is a factor of —2x3 + 4x? + 8x + 10. Explain your reasoning.

/’-J “

C 7
(-3 4 u(-D A 830 £ O
7
—2(-1) 4 H(A) =24 +10 = O
54 *3_(2_‘-—'2_&,!—:-.-0 :?O
o -4 6 P

)

Y42 i NOT o fatdec




